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LÄS TEXTEN INNAN DU GÖR UPPGIFTERNA. 
  
1. Grammatik: adjektivändelser och substantiv i plural. Skriv svar utan att titta i boken. Gå sedan 
tillbaka till texten och kolla dina svar. Rätta felaktiga svar med en penna som har en annan färg. 
 
Nej, det är bara ___________  (rutinfråga, pl, obestämd form). (107) 

Det __________ diskoteket låg i centrala Malmö (andra). Det var ___________ (öppen). (107) 

Kvinnan som öppnade var ___________  (ung), inte mer än tjugofem år ___________  (gammal). (109) 

Det var sex mycket ___________  (stark) strålkastare. (111) 

Med ___________ (stor) säkerhet hade han använt ___________  (lampa,pl, bestämd form) …. (117). 

Vi måste helt enkelt skaffa fram ___________  (bevis, pl, obestämd form). (117) 

 
2. C‐test i miniatyr (14). Ca. hälften av vartannat ord saknas. Fyll i det. Samma procedur som ovan. 
 
Wallander körde in på den väg som ledde till huset där Nyman bodde. Han stän_______ av mot_______ 

och släc_______ ljuset. Ha_______ hade stan_______ vid e_____ skogsdunge unge_______ hundra met_______ 

från hus_______. Han to_______ en fickl_______ ur handsk_______. Sedan öppn_______ han bildö_______ och 

st_______ ut i mörk_______. Han tän_______ ficklampan oc_______ lyste fram_______ sig me_______ när 

ha_______ kom u_______ ur dun_______ släckte ha_______ lampan. Wallander rör_______ sig sak_______ och 

försi_______. Han gi_______ mot baks_______ av hus_______. Det lys_______ i et_______ fönster. Än_______ hade 

hun_______ inte bör_______ skälla. Wallander sm_______ fram ti_______ husväggen. Sed_______ sträckte han 

p_______ sig oc_______ kikade i_______ genom de_______ upplysta föns_______. Rolf Nyman sa_______ vid 

et_______ bord mi_______ i rum_______. Han ha_______ en kort_______ i han_______. Ha l_______ patiens. (14)  

3. Det understrukna ordet eller uttrycket i meningen kan tas bort och meningen är ändå grammatisk 
riktig. Vilken betydelsebärande funktion har ordet. Förklara för varje mening. 
 
Nyman brukar väl arbeta här ibland? (107) 

‐På ett diskotek brukar man ju ha en massa ljuseffekter, sa Wallander. (107) 

Jag har nog med problem med polisen här i Lund. (109) 

Det märktes att hon inte var särskilt förtjust i poliser. (109) 

Vänta så ska jag se efter, sa hon. (110) 

Och det var faktiskt Nyman som jobbade då. (111) 

Han undrade vad det hela egentligen handlade om. (113) 

‐Men det bor väl en tjej i huset också, sa Martinsson. (117) 

Vi måste helt enkelt skaffa fram bevis. (117) 

De andra skulle ta reda så mycket som möjligt om vem Rolf Nyman egentligen var. (118) 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4. Tycka, tänka eller tro? Samma procedur som för fråga 1.  
 
Wallander _______besöka diskoteken där Rolf Nyman hade jobbat. 
 
Det var svårt att _______att den mannen nyligen hade dödat tre människor. (115) 
 
5. Skriv en underordnad och en överordnad term samt ett motsvarande adjektiv för varje ord. 
     Ett exempel: en hund, överordnad term: ett husdjur, underordnad term: en schäferhund 
En eller ett?  Ord/uttryck  Överordnad   Underordnad 
  personal (107)     

  utrustning (107)     

  bråk (108)     

  dygn (120)     

  bevakning (119)     

  inbrott (110)     

  sladd (111)     

  maktkamp (113)     

  handel (113)     

  plan (121)     

  gren (115)     

 
6. Innehållsfrågor 
 
a. Varför tror du att berättaren låter oss veta att Wallander tror att han är sjuk (108)? 
 
 
b. Vem tror Wallander är mördaren? Varför tror han det?  
 
 
c. Vilken roll spelar Lena Boman? Är det betydelsefullt att rollen spelas av en kvinnlig person? 
 
 


